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1 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 344 5093 | #nL U4t | 000 ~ 0.00| 1.65 7.28 zh s 1.00] 500 ~ 5.00 50.93 | ZhList | 5.00 500 | 1.65 7.28
9 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — - -
zhs 1.00 | 000 ~ 6.02 89.18 | ZnList | 000 ~ 6.02 | 2.22 9.76 zh s 1.00] 500 ~ 1040 89.18 | ZhList | 5.00 1040 | 2.22 9.76
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ — - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD — — - -
zhs 1.00| 000 ~ 3.29 4879 | #hu s | 000 ~ 0.00 | 1.60 7.05 zhs 1.00] 500 ~ 5.00 4879 | =4t | 5.00 5.00 | 1.60 7.05
100kN/mM#%#B x5 ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zh s ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#B x5 ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zh s ~ zhnLst ~ zhs ~ zhnLst
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zh s ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ ImFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM#%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
zhs ~ zhnLst ~ zhs ~ zhnLst
100kN/mM%#BZ % ~ InFRBRD ~ 100kN/mM#%#BZ % ~ ImFRBRD
zh s ~ zhnLs ~ zh s ~ s
100kN/mM%#B 2% ~ InFRBRD ~ 100kN/mM#%#BZ % ~ InFRBRD
Zzh s ~ st ~ Zzh s ~ st
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